Soustraction Avec Un Zéro (E)

7 000
-1336

2000
- 656

4000
-2 342

3000
-1 604

1000
-756

4000
- 3467

6 000
-1 389

Calculez la différence.

1000

- 340

7 000

-6 457

2000

-473

6 000

-1779

1000

- 942

2000

- 249

4000

- 638

1000
- 37

4000
-762

3 000
-419

6 000
-4 660

5000
-1670

6 000
- 397

9000
- 5680

4 000
-1222

1000
-772

6 000
-4 303

9000
-2 089

1000
- 633

1000
-601

5000
-2763
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Soustraction Avec Un Zéro (E) Réponses

Calculez la différence.

7000 1000
-1336 - 340
5 664 660
2000 7 000
- 656 -6 457
1344 543
4000 2000
-2 342 -473
1658 1527
3000 6 000
-1 604 -1779
1396 4221
1000 1000
-756 - 942
244 58
4000 2000
- 3467 - 249
533 1751

6 000 4000
-1 389 - 638
4611 3362

1000
- 37

963

4000
-762

3 000
-419

3238

6 000
-4 660

2 581

5000
-1670

1340

6 000
- 397

3330

9000
- 5680

5603

4 000
-1222

3320

1000
-772

2778

6 000
-4 303

228

9000
-2 089

1697

1000
- 633

6911

1000
-601

367

399

5000
-2763

2237
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